STXR
BENY71y70=lK=5

B M R

Bma—K K93229 + K83230

8 31X JCRO0850WKT - JCR0850WKN

mR|I—F  K93227 - K93228

g2 1 JCRO0850WMT-JCR0850WMN

HEm1—K K93231 - K93232

8 3l JCRO0850WDT-JCR0850WDN

Shonftfa®izl URBO0840-10

- BRTETOBIE. AFHEERELETEET
. RESRO—HICE, $£9 - yNREOBOBRIBIET

HIABHIHIA Y —



&

D ZHENXICDNT

1. ¥
[PR

O THEX OB, FRIER % O R

o
23 EU

()
[=]a}

peis
%
&

= @&

CACACRSN;
%%ﬁ%

g0 21

FaFER

® &

MR I RRRRES JURKICHAGO
F—bLT = FLRRLTHET,

2. HEMoB - Ak, Blroc xR L TED
79,
Eevafid, AT TV AEBLEIT
& iz kb B15 585

7o 4 RIKEETNIHLT, BRTE
{48 L 78 ViR

HERmOERERIZONT

CoFoMERNROMEER GHED &,
BSEITH0 R IFETE, 7o L. BBFRAT
H-oTh, BB WTIIANEG &4 T
SHTWAEELESLHD T,

B O S R I 13 LR OB EIRT

T LETH, HFREARTSH - T, Ha

Ao TEFEM D - IS RIS L OhRic
WTCHEISETWAREXES,




JCR0850W
TU—L =}

RuigEs #mEFS # T % FR {E%k it %
1 1411823004 7o b7L—ACP 1
2 130130000 L=t 1
3 BSZ08020 aFgRb 7T MEX2) 5
4 NSPO8 IHTAFTN w4 M8 5
b 1405040004 ER oy bt FCP 1
6 0793823004 NG VT 2
7 BH12030 F+w 7B 108 MI12x30 1
8 BZ12030 Ak 8.8 MI12X30 3
9 NZ12 Fw bk B Z¥a M2 4
16 WBSAILZ NERFEHNZ JTY MI2 4
11 ONB6 FY—R=9 70 B M6 2
12 45— hCP 1
18 | 079385000M FL—h 2
19 0550320000 Ay RFENLE 88 MEXI1S 4
20 | NSP08 aFyRTYVTFy b 4 MB 4
24 | BZ12035 Fb 8.8 MIZXE5 4
25 | 042783600M Ty v 12 6
26 | NZ12 Fwv bt 8 Z¥a M2 2
27 | WBA12 SERAFHN R 3T M2 4
28 1434980004 734 v rCP; L 1
29 1435000004 754 % rCPI R 1
30 | BSP08020 aIHFSWyEFr T MEX20 4
31 | 044097200M Ty ;8 4
32 1346900000 hyFHpaN—v—} 1| A7 var




JCR0850W
Tb—L4 « 55—}

RbES| H&FS i ol i # il %
33 | 1439750004 Zl—h 1| JCRO85OWT
34 | BSZ08020 amy R T MEX2A 3 | JCRO850WT
36 | NSPO8 BHFRTY v+ 4 M8 3 | JCROBSOWT




JCRO0850W
HAFT=a0Yay

135639-2
065-0052-1002
RiiEsS| H&&ES # i & B % %
1 1199850004 VZ7-1 B2-311 1
2 1300850004 ¥+ 7 FCP; 13T 1
3 040608401M oy Y 13X45 1
4 NZ12 +wv b 8 2¥a MI2 1
0 WSAL2 SRR A F 3T M2 i
6 KFC08070280 | ~f 2o+ — Yav=wil B8XTX28 1
7 JCS205LLU A=y bITNTY LS CS205LLU i
8 0551493000 A 75w 2
9 0554740000 A2 xFINE 88 MEX20 3
10 | NSP08 AFFRFVTFe b 4 M8 3
11 | JCB204LLY 2=y bIINTY S CS204LLU 1
12 | JPFL204G N4 75wy kv PFL2M 2
13 | BSZ08020 aFFELE T MBX20 2
i4 | NSP08 AFSRAT)wTFw b 4 M8 2
15 | 129706000M F¥¥aryy7—4ACP 1
16 | 081267000M F¥v¥avo—3CP 1
17 | DCO17 CHsrrm vo 17 1
18 | 141146000M = 1
19 | 085350000M RN 1
20 | 085351000M A7 — 1
21 | NNF10 7Ivviq4uvFy b MIO 1
22 | WRAI10 52 MIO 1
23 | PCO32016 7YEY 3.2X16 1
24 | PCO32032 7YEY 32x32 1
25 | 057788100M A 1




JCR0850W

HAF =22V a7y

13539-2
065-0032-1002

s #HRES #B an & iy fld%x fié %
26 | 1199920004 RF oy b 50—40T 1
27 | LA50056 u—3F = —% bH0X56L 1
28 120110000M F=UFH+xCP ;A 1
29 120113060 7>—y44+xCP ;B 1
30 131599060M Z -k 1
31 059483000M Ao xFb 88 M8X25 2
33 | NSPO8 IFFRATY) I F o 4 M8 4
© 34 | VLB068 Vb IB—68 ALY 2




JCRO850W

A—=IVo KT

47

32 5 a7
4ﬁ2%0 76@5;%’%0

8
e s, o |
065-0032-1003
RbEs| HRREBS #B i # il T {i %

1 1447710004 72w bo—-5CP 1
2 1199980004 ARF Ty b B0—22T 1
4 0284796000M 75 v ¥CP 1
o 043224101M NA 75 Y 2
] JCS206LLU 2=y bavAyFY sy C8206LLU 1
7 NNI16 FAaryiw b M6 1
8 (0530442006 TFARART Ty ¥ 1
10 BSZ10G25 aFFELE T MIOX2D 3
11 WSALD SNRFHF JTv MID 3
12 129708000M FL—F 1
13 129709000M A7 —;30.6X8 1
14 094796000 72 v ICP 1
15 043224101M NA TS5 WY 2
16 JCS206LLU 2oy bIONT S CS206LLU 1
17 BSZ10025 aHyELS T MIOX2E 3
18 WSAI1G SNREH AR T MILOD 3
19 0590442006 TFART Ty 1
20 NN16 FA o+ b Ml 1
21 000450000M A xELr 88 MIOX20 3
22 NSZ10 IHyF b 8§ 2¥a MIO 3
23 | WSAL0 SNEFH X 3TS MIO 3
24 (851322004 g—iCP ;1 4
25 0861344004 o—CP ;2 3
26 (851352004 n—aCP ;3 3
27 079507100M 7% »vCP 10




JCRO0850W

A=V Ko7

13540-5
055-0032-100

RS H¥mES h o B Fr % &
28 1 081235000M 73 v YCP 10
29 | 055149300M NA TG Y 18
30 JCS206LLU 2=y bFYNTY s CS205LLU 20
31 BSPZ08020 THISWyEENE T MBXZ0 54
32 | 0815250000 Ty 2]ty b EXE 20
33 DC025 CH&#rA7 P2 25 10
34 0793461004 NG L
35 | 0793472004 NG Dy
36 | BSPZ08030 IHYSWyFFA 7 MEX30
ar | 079324300M ATmAy b 20T 12
38 | 0T9326200M #E5— A 10
39 | 040608401M Ty 13X45 10
43 | NNFI12 TovdFrLoviy b M2 10
42 | 129710000M Fva v T —4LCP 1
43 | JB00SLLU RK—7 Y 7 6006LLU 1
44 | DHCO055 CH&Ey2xT 74 55 2
45 105611000M AT v Hex25% 200 1
46 043341501M AFN v AT — 1
47 NZ12 v b 8 2¥a MI2 2
48 | 1050410000 Fv¥svya—5CP 1
49 DC012 CHevrvr7 24 12 1
50 129711000M Fsva T —AL(CP 1
51 081741000M Fv¥gv7T—ACP ;B 1
52 | 0793340000 Ty e 21X1.6 2




JCRO08b0W

O—Jvo Roy7

47

065-0032-1003

EITHR

REs HaES i fin # Fr TEE fii %
53 | PC032032 U EY 32x32 2
54 | 081742000M = 1
5o 129712000M oy K 1
56 | 085350000M AT v 2
57 | 085351000M e — 2
o8 | WRAILD Es¥FAx MO 2
59 | PC032016 THEYy 32x186 2
60 | NNI10 73vIFrf4arty b MIO i
61 081267000M Fv¥aryu—5CP 3
62 | DCOL7 Crsbxrn vz 17 3
63 | 079331300M FrYavTL- b 1
64 | (44097200M Twie 8 2
66 | BSPZ08025 IHFSWyFHEAL L T MEX25 2
66 | LAS0141 D—%Fx—7 bH0XI141L 1
67 | LABG042 o—3Fx—r BOxX42L 1
68 | LABDLZG 0—-3Fx—» bH0X126L 1
69 129718000M A7w oy b 50X20T 1
10 | 096757000M Vi 35.5%X06 -
71 088114000M 7= 1| JCROGEOWT




JCR0850W
n—%

13541-3
065-0032-1004

Ritifs #Hm#FS i i & {8 Lk Fi #
1 12971131004 o—4%CP L
2 JC3207LLU Ty pa@IATY S CS207LLU 2
3 1297140004 TR 2
4 129715000M Tl— 2
o 1352630004 TZ b i
6 BSZ08025 aHyELE 7T M8X25 9
T BSZ08030 aHyEL S T M8X30 8
9 044097200M IR i
10 | NSP03 INFATVF b 4 M8 1
11 | WSAQ08 N AH R 37 M8 16
12 1404321004 AJ L —s¥CP 1
13 | BSZ10025 IHFFEE T MIOXZE 4
14 | 044098500M 7wy 10 4
15 | WSA10 NEAFH A Ty MIO 4
16 | LAS0107 u—3%F x—» H0X107L 1
17 1318060000 P 4
18 | NN16 Aoty b MI6 1
19 | 0590442006 FART Ty ¥V 1
20 1297180004 A7 wiry FCP ;00X 4T 1
21 DCOZ0 CHy bAT P2 20 1
22 1297440004 A7v4 .y ;28T 1
23 1297450004 Yy —E bR FCP 1
24 | KBB-5020A A—FY ATy A B0XE5X20 1
25 | 066208100M 7w ¥y DIX3.2 1




JCR0850W

O—4
Q55-0032-1004
REER HTHEFE gl o N B {i =
26 DC050 CHs b7 Y2 50 i
27 0812320000 Y —HK b Mex30 6 | FEsr
28 NP(06 ATV 4w b MG 6| FE54
29 (74891300M A5 — 1
30 B4630-1012 YaodF2.94 10X12 2
31 (858530000 T o ig v 1
32 097618000M YA 11X1.0 ]
33 BJ10035 H+5++o 7 B 109 MIGx35 1
34 NNF10 7o virAorio b MID 1
35 (0988800000 A 35.5X0.0 —




JCRO0850W
Evyo7 97

RBiEs HE2EFS il 5o % Py A% T &l
1 1297201004 w 7T w77 ACP 1
2 1337182004 +4 KL —=rCP R 1
3 1337172004 44 FFL—-CP,; L 1
4 1297230004 7L —1+CP 1
b BSPZ08020 IHFFSWYEELE T MBX20 10
6 JCB204LLU L=y bayR7 Yy C8204LLU 1
7 072968100M Ty e ;14 1
8 WSAl4 ANRxFEH R 3T Ml 1
9 NZ14 7w+ 8 2¥a M4 1
10 1297240004 E 1
11 129725100M A7 0y b B0—22T 1
12 | KFC08070380 |[~A4aud— Jaw=i §XTX3B 1
13 | TRK08016 6hAxY 109 7+F3I1 MEX18 1
14 | NSZ08 2HEF v b 8 Z¥a M8 2
15 1297260004 73% v FCP, L 1
16 1297270004 7579 FCPI R 1
17 | JCS205LLU A=y ba3oN7TY s CS2056LLU 2
18 | B5Z10025 aFyFr 7T MIOX25 4
19 | 044098500M 7wy ;10 4
20 | WSALQ ANEHFHx JFv MIO 4
21 129728000M A7 —; 26X80 1
22 120066000M R 1
23 | JPF206G N 7Y = PR6 2
24 | JCS206LLU 2=y baYXT Yy CS206LLU 1
25 | BBZ10020 aHyELr T MIOx20 3

I
—_
[en]

I




]

JCR0850W

Evyo7v7

RBEs HaREFzS e o % g {5 {i& &
26 WSA10 SNAYHR 3Ty MIO 3
a7 079299100M V-1 ;45" 1
28 079300100M V7r—y ;8 1
29 VLB040 Vs LB—40 A v vy 1
30 085801200M HyAaw e MOX1 1
31 079297300M Fvia (P 1
32 000034100M iRBlF v v g v - 1
33 061847000M 7w v 1TX1.6 1
34 PC32032 7Yy 3.2%32 1
36 DCO12 CHzrx27 U7 12 1
36 07930:2000M 27y v U 1
37 | BXI08070 Far 100 €y MBXT0 1
38 WRAO08 Es¥Hx M8 2
39 079301100M IS 1

~40 | NSZ08 a#FsFe b 8§ 2va MB i

41 1319960004 o 77y Fhoi— 1
42 1319980000 TAF L—F 1
43 CP06016 FhNaixy MEX16 2
44 | NNF(6 TovvFiarF e b M6 2
45 1181490000 =F1) ;M8 3
46 (0591440000 oA w b 2
47 | 08b222100M OU—F 75y ¥a 13
49 BSPZ08020 aAHFESWY FENLE T MEX20 52
50 1297300004 ¥4 »3=CP 4
51 0852240006 b 20
52 1050261006 &4 70° 8
53 BSZ08055 oA FHELE T M8X55 28
54 | NNF08 FIvvFLiarFy b M8 28
55 044097200M Tw vy ;8 28
56 | 0792824004 7 b 1
57 | BJ08020 +34& v 9 7B 109 M8x20 4
8 WSAO08 ANR AR 3T MS 4
59 | NSZ08 aHFFe b 8 2va MS 4
60 JSBXO26LLU | 2+ = ba g ~7Y s SBXO126LLU 4
61 DCo12 CHzrxAm V& 12 4
62 1297310004 Y+ 7 b 1
63 JPFL204G ~“4 75 vy ki PFL204 3
64 JCS204LLU A=y bIUANTY T CSAMLLU 2
65 057788100M ¥ 1
66 PC0O50036 7Yy 5HX36 1
67 (85226100M A 1
68 BSPZ08025 IHFSWyERALL T MBX25 2
69 BSPZ08020 IHFSWyEEALL T MBX20 2
70 085137000M 7w v 13%3.2 1
71 WSAL2 SNEYFH AR 3Ty MI2 1
72 | NZ12 Fok 8 2¥a M2 1
73 1032960004 g4 w7 L—rCP 2
74 BX10070 Far 109 MIOXT0 2
75 044098500M Fw e ;10 2




JCRO850W
Evyo7v7

BHES| HaEES 1 i) & il &L i 4
76 | NNF10 7Iv¥FAnyiy b M) 2
7 | WEA1L0 SNRHEHF R JTv MID 2
78 | 0640350000 FAB YTy va 8
79 | 065487000M b 8512 12
80 1032980000 7w e 43X3.2 8
81 | PCO50056 70y 5X56 8
82 094889200M Tl—t 1
83 | BSZ08012 aFyFELE T MEXI12 2
84 | WSAQ8 SRR JTT M8 2
86 | 1337720004 ARA—FL i
86 | 1337730004 AH—F R 1
&7 | 1285370000 =41 M8 4
83 | KMS009 TFIvFre 9 1
89 | TRK08020 6 rAZY 109 Z#3I MEX20 1




JCR0850W
EvyoU7J b

BITHE

065-0032-1008

AiliEs #HaES & oo # i THEL i #
1 140437000M o v FCP 2
2 S5C0620 VywdN b—174 2
3 079422000M Ta—7 L 10x40 2
4 079423000M Y 10x40 2
5 N5Z10 IAEFo b 8 2¥a2 MIO 2
6 141147000M L N—(CP 1
7 129734100M 7—4CP R 1
8 075947300M XA T 1
9 WRA20 SN M20 3
10 PC040032 7Y ey 4X32 1
11 BSZ08045 aHFyFEr T MEX4H i
12 NNF08 73vVFA vty b M8 1
13 1287350006 27 ¥ 7 HAO%32% 270 2
14 043341501M ATV T RTF— 2
15 NZ12 Fuw bk 8 2¥a MI2 4
16 0007220000 =& ;12 1




JCRO0850W

Oy
065-0050-1004
HUED| W ® 7 185 I

1 1405870004 Ty L 1
2 1405880004 TR 1
3 BSZ10030 aAzHENr 7T MIDX30 4
4 044098500M 7oy 10 4
5 WSALD SNEHHF 339 MO 4
6 079374100M Ak wst L 2
7 074132000M 27 w4 283X18X68 2
8 079335100M h s — 2
9 1149870000 Yia G $10.5X0.27

10 BSZ10035 IAFEFELEF T MIOX35 2
11 NSZ10 IHFYF b 8 2¥a MIO 2
12 WSAI0 SERHFH R 3Ty MIO 2
13 0793652004 T3y b 2
14 BSZ08075 aAyrENLE T MEXTH 2
15 NNF08 7S5 vYFfavFae b MSB 2
16 140589000M Y —2npy KCP 2
17 BSZ08025 aFFELEF T MBX25 2
18 NSZ08 aHrFe b 8§ 22 M8 4
19 WRAQS ES¥WHA% M8E 2
20 079424000M TA—2TvF ;8X32 2
21 (0794250000 Y 8x32 2
22 079375100M AFNV 7 H 1
23 063276000M Fov b MI10 1
24 NSZ10 AHFyFe b § 22 MIO 2

I
—
=

|




JCRO8H0W
FOAINA VT 40T

$65-0050-1005
RUES WMREFS il & # PR (8% i £
1 1442931004 WNA T 4 v 7L~ ALCP 1
2 BSZ08020 aFFEALE T MEX20 4
3 044097200M 7oy Va8 4
4 NSP08 aHyRAF) S+ b 4 M8 4
5 140776000M F+14 77—k 1
6 BSZ08020 Iy ERLE T MEX20 1
7 NNF08 75 v¥FAovie b M§ 1
8 BHO08016 v+ 7B 109 M8x186 1
9 NSP08 IFFRFY v rFy b 4 M8 1
10 | 1020460000 F47 1
11 055474000M A7 RHEh 88 MBX20 1
12 | NSP08 IAFZRFVvFF e b 4 M8 1
13 | WRAQ8 ES¥AE M8 1
14 | TPA03008 FRESEVRY A §x6 1
15 | 140642000M TSN 1
16 | BSPZ08020 aHFISWYFELr T MEX20 3
17 | 044097200M I 3
18 | 1406430004 7~ WCP 1
19 | 1408470000 Ye7 b 1
20 WRAI16 EoWH R MI16 2
21 PC040025 7Yy 4x2h 2
22 1441030000 Ty ¥ 16X15 2
23 | 1311500000 FAL = 9
24 | 140648000M 7 L— b 2
25 | BZ05016 FI b 88 MBX16 2




JCRO850W

bOAIN T 4

7.

\

065-0050-1005

AfiEs HBa#F=Z B i # # % i
26 | NP0 A7V vy b M 2
27 | ONC6 FTN-R=w TN C M6 1
28 | 134367200M F7A YA ECP 1
29 | BSZ08020 afyFEAr T MEX20 2
30 | 044097200M Ty v 8 2
31 | NSPO8 aHF ATV Ty b 4 M8 2
32 140649000M v 1
33 | BZ06010 Fb 88 MBX1) 2
34 | WS06 SRR 2T M6 2
35 1302860002 Fv ;8T 1
36 140650000M f15— 117.6%4 1
37 | Je003LLU R—~7 ) s 6003LLU 2
38 | DHCO035 CHsrzrm 7+ 3 2
39 | DC017 CHsrrg v 17 1
40 | 0807851000 oA w7 =) 1
41 | TRK08020 6 ARG 7K MEX20 1
42 [ NSZ08 afyFeb & 22 MB 1
43 1302870004 AZ7al ey FCPIL 1
44 | JBOO3LLU K—~7 1 v 6003LLU 2
45 | DHCO035 CHAy 29 73+ 35 2
46 140651000M #3— 5 17T.6X10 1
47 140652000M F¥ ;34T 1
48 | KFDO05050100 | ~4awF+— UYawkF LHXEXI10 1
49 | 094946000M 7w ¥y 17.5X32.3 1
50 | DC017 Cxsrian o 17 1




b
JCR0850W

bOA N T 40T

Riifs| HMHES B LS # Br LB fif *#
b1 090360100M ¥4 18.5%0.1 3
52 1406531004 JourCP 1
53 | BSPZ080Z0 IHFSWyAFFELS T M8X2D 4
54 | 044097200 VR Y 4
9b 1341740002 Yo7 b 1
56 140650000M h5— 5 17.6X4 1
57 | J6003LLU R =7 v G003LLU 2
58 | DHCO035 CHsrrm 74+ 25 1
59 | DC017 CHerxrg vy 17 1
60 1441140000 HA Ko —SF 2 — v 40X 100L 1
61 1434204004 P74 w7 L —ACP 1
62 | BSPZ08016 IHFZSWrERA b+ T MEX16 4
63 1430330000 NG—gf Y FE—F 1
64 | CP05020 +Nax Y MHX20 3
65 1442960002 Y7 b 1
66 P5040025 A7 sy AXEh 1
67 140658100 u—3CP; 7 ¥y 1
68 | JHFL2026 7vo=47%vF HFL2026 1
69 (G20263 FANy—i GAXKBEXI 2
70 140704200M I b 1
7l BSZ08020 IR T MBXED 3
72 | NSZ08 IATYFy b 8 2¥a M8 3
73 | WSAQ8 SNRYFH X FTY MB 3
T4 | JCS203LLU 2=y baaxy)yg CSA3LLU 1
o | JPFL203G NAT ISP ki PFL203 2
6 | BZ06016 -k 88 M6XI16 2
77| W506 SNRYHE 2T MG 2
8 | NZ06 Fw b 8§ 22 M6 2
79 | 066672500M AA K 4
80 [ C020 Cazrrg ¥7 20 4
81 140701100M T — &ACP 1
84 | WRAIZ AR M2 1
85 | NNF12 Z73vIFfavdy b M2 1
86 140660100M O3 1
87 | J6203LLU F—w_7 ) vy G203LLU 1
88 | DHC040 CHybrr7 77+ 40 1
89 | DCO17 CHyrxm v 1T 1
90 | 082675000M ARFY T 1
9 BZ06016 Fab 88 M6x16 1
92 | NZ06 Fv b 8 2¥a2 M 1
93 | 079495000M FYVs YTl — L 1
94 | 013290101M 73w FHATY 4T 2
95 | NNFO6 73 VFAnrdy b M6 2
96 142578000M HARFZL—46CP 1
97 1425830000 FLr—bh 1
98 | 077392100M s 1
9% | BZ06016 Fat 88 MEX1E 3
100 | WS06 ANRWH R 2T MB 3




JCR0850W
bPIAIINAIF 42T

065-0050-1005

RitEs BRES & f & Fr {E%L i
101 | 105788000M F7AYHEAE 2
102 | 070398000M ATY A 2
103 | BZ06035 Kk 88 M6x35 2
104 | NNF06 73V A4nvdEy b M 2
105 | WRAO6 ES¥HE M6 2
106 | P3060020 RFY Ty 6X20 2
107 | 143957000M TN 1
108 | BSPZ08016 IHFZSWryEFr 7 M8X16 2
109 | WS05 SNRHEHR 2T Mb 3
116 | 1440800000 ATN wg 1
111 | BSZ08016 aFyELE T MEXI6 1
112 | NSZ08 a&FF+e b 8 22 M8 1
113 | WSA08 SNRYH R 3Ty M8 1
114 | WRAO8 b H¥H R M8 1
115 | 059097000M 7w ¥y 200X3.2 1
116 | 046001100M Ty 20 1
117 | 0858040000 VoA —




JCRO0850W

Ry bSAF4 T (1)

065-0050-1006

EITHR

Aigs Ha®ES & it % i TH% i %
1 14037290000 40— FCP 1
2 140805100M Ls3s—CPp 1
3 PS060030W RTY»FEYy F7aav 6X30 1
4 P3035030W ATFYrEy FIaag 3EX30 1
9 140810100M 2w FCP 1
g 079334000M T ¥y 21X16 1
7 PC032032 7Y EY 3.2x32 1
8 061847000M 7y ¥e 1TXL6 1
9 PC040025 7 UKy 4x25 1
10 | 1349400000 ATV T 1
11 143986000M Fv T 1
12 | ONBé6 FY—R=9 7N B M6 1
13 | PC040025 7UEY 4X25 1
14 | 122668000M NG Py 1
15 | 122685000M Aoyt 1
16 | BSZ08025 Iy FELE T MBX25 2
17 | RBT08025 F7 B 109 MEx25 1
18 | NSP038 IHERTV v FF e 4 M 3
19 | BSZ08030 aFyELd T MBX30 1
20 | NSZ08 2#7sFw b 8 2va MB 1
21 1395100004 ¥ 7 FCP 1
22} Je%05LLU =<7y ¥ B905LLU 1
23 | DCO25 CHsbAm vF 25 1
24 | HF2520 grvexd2 7y F HF2520 2
25 | JB904LLU =7 )y 6904LLU 1




JCR0850W
Ry bAUF407 (1)

065-0050-1006

RHES] #WMamF = & i 7 Br 1B% = *
26 AW04 NTYYITT7 9 ¥y AWM 1
27 140812000M 75w T—540P 1
28 (325324 AW — GIBA3IX4 2
29 044214301M 7w e 25.5X1.0 1
30 060807100 A 1
31 BL8D JrvadHR—i BLAF¥ #Z M8 1
32 122684000M ooy 1
33 NSZ08 IHFF e 8 22 MS 2
34 000085200M ~N—y P 8X16 i
35 143948000M Fv¥avT—ALCP 1
36 KBB-1810A A—KYFESA<TN Yy A 18X20%10 2
37 DCo18 CHsrxv <7 18 1
38 ONAB F)—R=o 7N A M8§ 1
39 (000034100M SR v v e v — ) 1
40 DC012 CHybrx7 Yo 12 1
41 140817100M E—F -2 1
42 BSZ08016 aHFFELEF T MBX16 2
43 NSP08 AFZATYV T+ w4 M8 2
44 1114650000 BEe— % 1
45 CP03016 ++~Raxrg MHEXIB 3
46 WS05 SNEAYWH A 2T MS 3
47 132670000M Z7Y oy H2.3X11x95 1
48 DEJ06 EXFg A7 6 1
49 BSZ08030 aFyHLE T MEXI0 1
50 NSZ08 IHyF b 8 a2 MSB 2




JCRO0850W
Ty b4 574205 (1)

065-0050-1006

RHES| HadES # T # R B i &
51 143953000M 77—V [ A—G62 1
52 P5080050 2w FE Y 850 1
53 140818100M 75 bCP 1
54 1 055032000M AL xR 88 M8x15H 1
55 NSP08 IHGZRTY T F b 4 M8 1
b6 122656000M ZF—1YCP,; A—¢" 1
57 VLAD28 Ve r LA-28 ALvy 1
o8 P5040025 RFN Iy 4x25 1
b9 141929000M Ty ¥ 1
60 WRACGS EsHFA M8 2
61 WRAQG BEs¥HA M6 1
62 WS08 SRWH R 2TFT M6 1
63 ANO04 _FYTF e b ANO4 1




JCRO850W
Ly MM IF 40T (2)

BiiES #Ha&FS il i £ ¥ TE%L &
1 1439510004 Fov b7 L—=LCP L
2 BSZ08020 aFgELr T MEXZ0 4
3 044097200M PR A R 4
4 NSPO8 aFyRATY T Fe b 4 M8 4
b J600SLLU F—xF Y vy 6008LLU 2
8 DIC068 CHs AT T3 68 2
7 122633000M o3 1
8 J6301LLU H—~_7U s 6301LLU 2
9 WRAI2 EZHHx M2 2
10 | 1226340000 Y+ 7 b 1
11 | PC032016 JUEY» 3.2X16 2
12 | BSZ10020 aHyFEr T MIOX2 2
13 | NSZ10 aHyF e b 8 Z2va MO 2
14 | 1408000000 YN — 1
15 | 075290100M 7wy 10 , 3
16 | WSAL0 SNRHEHFZ 3T MU0 3
17 | BSZ10030 akyEr 7T MIOX30 3
18 | NSZ10 IHyFw b 8 2va MIO 4
19 | BSZ10025 aFyHEar 7T MIOX25 4
20 | 132655000M Ny T uy 2
21 | 0934880000 Twa ; 16X25 2
22 | ONCS ) -2y TN C MG 2
23 | 055474000 A7 xEE B8 MEX20 4
24 | NSPO8 IHFIRTY) T F e b 4 M8 4
25 | 114021000M A7 —; 16.6X22X 1.0 2

|
T




JCR0850W
Ly P IF4 0T (2)

065-0080-T007
Riigs| #&5&ES 8 i # i fE% l
26 | 0883040000 ¥ 16.5X22X1.0 5
27 1408011004 +4 77— 4&CP 1
28 | 1226390004 47 1
29 122640000M F4 77—} 1
30 | BJ08030 I3+ + 7B 10,9 M8x30 9
31 | WSAQ8 SR AR 3T M8 9
32 | NSZG8 aXF+e b 8 22 M8 9
33 1226450000 AT vy H2.9X20X95.5 3
34 | 141929000M Ty Yy 4
35 1439470004 # v FAA FCP 1
36 | BSPZ080L6 4

ANFSWyFHALL T MEXI1E




JCRO850W

Ly bTL—F

!
12
9
[ 13949 ]
C65-0050-1012
RiEs| #Ha2EHS il 1) & i} TEI% 1 =

1 122821000M (i ‘ 1
2 067118000M R7Y VA 1
3 WRAIL0 EZHHR MO 1
4 000085200M N—F v 8X1E 1
5] 140820000M T —F%7—4&CP 1
6 124024000M L= 1
7 P5050020 A7 ey XA 1
8 0007220000 =F1Y ;12 1
9 1292520000 HAAZAF) 7, 0k g f 2
10 | BSZ10016 a#FFENLF T MIOX16 2
11 | NSZ10 IHFF b 8 Z¥a MIO 2
12 | WRAILD EZHHE MO 2
13 | PCO32016 TYyEYy 3.2X18 2
14 | 140822000M T 2
15 140823000M - 1
lé | BSZ08020 aHFyEA b T M8X20 4
17 | NSP08 aHyRAT) v TF e b 4 M8 4




JCR0850W
7oy

13638
065-0032-1008

Rib#s He&a B i il 1% 5
1 133757000M 7—-4CP R 1
2 133761000M T—ACP; L 1
3 BZ12055 A b 8.8 MIZXBS 2
4 NNF12 Zey¥rA4nyt oy b M2 2
5 0000652000 £ B12X50 2
6 0000862000 Ny Y 12x2 2
7 1337620003 #—FCP 1
8 CAP027228 w7 AT.2X28 2
9 000453000 FMFEY 9 2
10 1129130000 Joidy b 14 2
11 1337670004 s 0wy P HN=CP 1
12 | BSZ08045 aFFELE T MBX45 2
13 | NNF03 Z73v¥FrA4orst e b M3 2
14 1337530003 z 7w (P 1
15 1346580003 Fur7 55y bCP 2
16 | WRAO8 EIHEHFA M8 4
17 | NSP08 AHFRFTYYTF e b 4 M8 4
18 | 000453000M FyEY 9 2




JCR08H0W
BoTad

.
baNy

8
Rii#s #HmEFS ol i i a5 1 ]
1 1299421006 47 3
2 129943000M Yy 7 b1 1
3 129944100M Y7 b2 1
4 128945200M L/¥=CP 1
5 P5050032 RN I E s 5X32 1
6 000453000M FEEY 9 1
7 098012000M Vo ¥ 23X3.2 3
8 PCOL0036 7YY 5% 3




JCR0850W

FIs—
30 1
685-0050-10
RUES| HEFES = S # Bp % (e &
1| 1411330003 7ay b Aa—CP; L 1
2 | 1411270003 7oy hA5-CP ;R 1
3| 1308780000 Ty gy R 2
4 | 141140000M 7544 FCP L 1
5 | 140972000M 7354 5 +CP 1
6 | BSZ08025 aFyHEAME T MEX5 4
7 | NSP08 AXSRTY VT F b 4 M8 4
§ | 1408451003 4=+ A 5—CP 1
9 | 1181490000 =& ;M8 4
10 | 0333782000 TN 7 1
11 | WRAOS ES¥A% M8 2
12 | NSP08 AXFRTYI VS F b 4 M8 2
13 | 1415680004 754 MCP 1
14 | BSPZ08025 aXFSWyEHENME T MEXI5 2
15 | 1411490003 #179—CP 1
16 | CP06016 +FNa%Y M6EX16 2
17 | NPO6 27N VT Fy b M 2
18 | WRAO6 ES¥H% M6 2
19 | 0333782000 Y i
20 | WRAO8 ES#H% M8 2
21 | NSP08 AFFRTY VT F b 4 M8 2
22 | 0793782000 F/R—F Ry b 1
23 | 1404691003 by 7 HN—CP 1
24 | BSPZ08016 IHSSWYEELE T M8SXI16 4
25 | WRAO8 ESHHE M8 4




JCR0850W

Hin—
30
G65-0050-1011

AiEe] # &S ® & & W B e %
26 1404702003 EvoHoSs—-CP R 1
27 1404722003 Ly yhN—-CP; L 1
28 BZ06018 T 88 MEX16 8
29 WS06 SNEAFH X ZT M6 8
30 1411481004 O — & fpoN— 1
al BSPZ8020 IFZSWyFFEAF T MBX20 2
32 WRADS EZ#HFR M8 2
a3 044097200M. Tyl 8 4
34 PC032016 70y 39x16 1




JCR0850W

17y
RHEE HEES it o & ¥r e 1 e

1 1405200106 v ¥, CSH35X 210X 375 1

2 1034-04 F—RzNFETF PFL74XPTL 4 1

3 1006-04 R— RARARA NN PFL74XPT1,74 1

4 0002280000 Rbr TSN T 1,74 1

5 KHO401250AP | 27 w&—2 1,74%1250 1—4 1

Y

7 IL'T150 Aviiaow 754 25X1560 2

8 ILT250 A ooy 74 48%X251 1

9 1033-04 =—RzNE PFL74XPT1 4 1

10 2088-04 ARAZNE PTL 4 1

11 0005260000 7 —7) =¥ 1

12 BZ16080 FAr 8.8 MIIGEXE) 2

13 NN16 +A4ovre b MG 2

14 0887210000 AN FWF 2 —T 2

15 1251850000 FoAtw b p30 2




JCR0850W
AT 47=%

/%3544
/T

6
13
AN
13947-3
065-0050-1010
RiEs| Mo &S &3 i e G kS i &
1 143972000 ¥+ 7 FCP 1
2 1439850000 AT o H2.3X17x140 1
3 BSZ08025 afFyEN T MEX2E 1
4 NSZ(08 AHXFF b 8 2¥a MSB 1
5 1404610004 7 b—+CP 1
6 P50560022 ATV FEY 5X22 2
7 140464100M 7 —4CP 1
8 09675T000M v b 25.5X0.6 -
9 DC025 CryrAg P 35 1
10 140468000M =R 1
11 000085200 N—FEr 8X16 1
12 PC032016 7Yy 32X16 1
13 130191000M 7w ¥y 1166X1.0 2
i4 0951061000 Va1 255X0.2 -




JCR0850W

Tk
10
O
(o
@ 1
. < <>
NAF 4 »TAS "’
E—aA
9 3 24
@ B
/N
78
g |
13951-4
HiEeS ®mEEE e & & o %% i =

1| 1450660000 ey s - F 1
2 | IPR200 Z v a ) I—R ¥4 SG-PN200 6
3 | 1038750000 TNy g AN—R 2
4 | 1LT150 fvvaayyi4 35x152 5
5 | 1400860000 FeY RS v F; NC 1
6 | CP03016 +F~aTRY M3IXI16 2
7 | NAO3 Fo bk 4 252 M3 9
8 | Wso3 SAFH R 9Tm M3 9
9 | 130496000M |23 v 9 | JCRO850OWT
L |/ 1459610000 DY rE—NEy IR RTA Y 1| JCRO850WT

1450620000 TV O AR TR Fw b 1| JCRO850WN




JCR0850W
NI

R&EsS MREF = BT R &%k {1 E
1 1410440000 TN Favkd ] 1
2 1337740000 SN Favtd B 1
3 1064190000 SN Oy 38 1
4 1064850000 SN 4y Tl 2
5 1064890000 SN d4as 15 1
6 1064980000 SN Ay 84 2
7 1065370000 I A ay 123 1
8 1241050000 SN, Fagf 2 1
9 (1009350000 Ny F A0 R—T701008Q8 2
10 1064730000 S F4as 65 1
11 | 1418440000 F~U ;A 54 7R (STAR) 1
12 | 1418450000 SRS 1
13 | 1429240000 7~ 0850W 1
14 1410921000 S T 1| JCROBSQWT
15 | 1410930000 P RAVIVRGE SR 1| JCRO850WN




JCR0850W
horyy (T2 a)

NAYVF4TI—LLE _/;

13957-1
RHES HRFS il ot G i} {EE i =l
ASY | 1403990000 # T AS
1 1234640000 Aoy R 1
2 CP03010 +ihAaxy MIXID 4
3 WS03 NERHFH R 2T M3 4
4 NAO3 Fw b 4 222 M3 4
5 141472000M T TN 1
6 BZ06012 Fi-b 88 M6X12 2
7 WS06 AR LR 239 M6 2
8 WRAOG B M 2
9 141473000M oy F 1
10| BSZ08030 aHFyELE T MEX30 L
11 | WRAO8 ESH¥H R M8 1
















ki

%

S-090625H

VN #  066-8555

FEE%PT 066-8555

EEEEF 0984100

FILE R 0802462

FRIRERESRRT  086-1152

TEE=E %P 0283172

lleE X 9830013

INUE ZEPFT 323-0158

L 2B 700-0973

BERE R 861-8030

8 It = ¥ PR 885-1202

FTHmEE# 1 O 6 1 %F H 2
TELO123-26~1123

. FAXO123-26-2412
FHEWLEEH#H L O 1L F i 2
TELO123-22-5131
FAX0123-26-2035

RIEHEEN LYo~V 1191FM44
TELO1B82-82-1932
FAXO162-82-1698

WM 224dk 1 TH 12 HF 4
TELO155-37-3080
FAXQ155-37-5187
AP E RN 2 TH16 #F 2
TELO153-72-2624
FAXQO153-73-2540
ETRIEET R EETIL RS 113512053
TELO198-46-1311
FAXQ198-45-5999
BEREAMETEREFX P FrmBE179-1
TELOR22-388-8673
FAXO22-388-87385
AR B /A IDmHE 2512 -1
TELO285-49-1500
FAX(0OP85-49~1560
BMILEBMLOT X THE 704-103
TELO86-243-1147
FAXOBB-243-1269
REABRAGTAHALODLS 3 9-1
TEL 096-389-6650
FAXQ096-389-6710
BIGFEME T ERNERH 1003 -2

TEL.O986-53-2222
FAX0986-53-2233

T.21. 06. 5S@






